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double exp rnd(int t){
return t* (log(1/rnd()));}
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1 #include <stdio.h> fLslEC
2 #include <math.h>

3 #indude <stdlibh> —— B0

4 #define NofClerk 3

5 enum event_type {arival finish};

6 struct event_node {

7 long time;

8 enum event type type;

9 int clerk id;

10 struct event_node * next;

11 };

12 long mean_arival _interval;

13 long mean_operation_interval;

14 long quit_time;

15 int clerk_busy[NofClerk];

16 int nof_person N _queue;

17 long current_time;

18 struct event_node * event_root;

19 void event_add(long interval ,enum event_type type,int clerk_id);
20 long exp_rnd(long mean_interval);




gueue.c man

int main(int argc,char **argv){

inti;

struct event_node *rm_event;
24 if(argc!=4){
25 printf("usage: queue arival_interval operation_interval quit_time¥n");
26  return1;
27 '}
28 sscanf(argv[1],"%d",& mean ariva _interval);

29 sscanf(argv[2],"%d",& mean_operation_interval);
30 sscanf(argv[3],"%d",&quit_time);

31 for(i=0;i<NofClerk;i++) clerk busy[i]=0;

32 nof person in_gqueue=1,

33 current_time=0;

34 event root=NULL,;

35 event_add(exp rnd(mean arival interval),arival,0);




for(;;{

if(current_time>quit_time)return O;

1; é)lr(;;){

if(!nof_person_in_queue) break;

for(i=0;i<NofClerk;i++){
if(clerk_busy[i]) break;

}

gueue.c man

[* ++++++HHHH
printf("time=%3d nof _p=%3d",
current_time,nof_person_in_queue);
for(i=0;i<NofClerk;i++)
printf(" busy[%d]=%d",i,clerk_busy[i]);
printf("¥n");

[* +++++++++++

if(i==NofClerk) break;
clerk_busy[i]++;
nof_person_in_queue-;
event_add(exp_rnd(mean_operation_interval),finish,i);

}

rm_event=event_root;

event_root=rm_event->next;

current_time=rm_event->time;

If(rm_event->type==arival){
nof person in_queuet+;
event_add(exp_rnd(mean_arival _interval),arival,0);

}

elseif(rm_event->type==finish)
clerk_busy[rm_event->clerk id]=0;

else;

free(rm_event);




67 void event_add(long interval ,enum event_type type,int clerk_id){

68 struct event_node *new_event;

69 struct event_node * event;

70 new_event=(struct event_node *)malloc(sizeof (struct event_node));
71 new_event->time=current_time+interval;
72 new_event->type=type;

73 new_event->clerk_id=clerk id;

74 if(event_root==NULL){

75 new_event->next=NULL,

76  event_root=new_event;

77  return;

78 }

79 if(event_root->time>new_event->time){
80 new_event->next=event_root;

81 event root=new_event;

82 return;

83 }

84 for(event=event_root;;event=event->next){
85 if(event->next==NULL)

86 new_event->next=NULL;

87 event->next=new_event;

88 return;

89 }

90 if(event->next->time>new_event->time){
91 new_event->next=event->next;

92 event->next=new_event;

93 return;

94 }

9% }

96 }

gueue.c event add




gueue.c exp rnd

97 long exp_rnd(long mean_interval){

98 doubler;

99 r=(double)mean _interval* (log((double)RAND MAX/(double)random()));
100 return (long)r;

101 }

random() O RAND_ MAX
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m DED: Data Flow Diagram

m CASE: Computer Assisted Software
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m BDD

— BDD: Binary Decision Diagram
— SROBDD: Shared Reduced Ordered BDD
— ZBDD: Zero-suppressed BDD
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rand()
U 0 U<l
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